1.40

N
N
N

15

33

1.00

37

1.30
1.26
\
\
\
\
\
\
\
5 |2 61 4 61
Ansicht M 1:10
L 2.80
’
Ar
3
o
BN —— B :
Ansicht M 1:25
Grundriss M 1:25[  ~_ ]
AN e
//
\\ y
A
\/
\[
© 1
©
|
N
70 1.40 70
Grundriss M 1:10
65 5,7 |
0
| I— <
l [Te)
o 10 2 °
- 771
i
i
[ee]
64 4
70

Schnitt M1:25

15

33

L4 H

| 20 4|]4L1L2 25 |

2.46

20 e

| 31

11

20

Schnitt M 1:10

Schnitt M 1:10

[OUNA—
15)
f N
1 o
7fu/ 130
—— ®
414 12 15




	01 [A3 hoch Intern]
	Ansichtsbereich-6
	Ansichtsbereich-7
	Ansichtsbereich-8
	Ansichtsbereich-9
	Ansichtsbereich-11


